E pharmaceutics ﬂ/\n\D\Py

Supplementary Materials: New Compounds with Bioisosteric
Replacement of Classic Choline Kinase Inhibitors Show Potent
Antiplasmodial Activity

Francisco José Aguilar-Troyano, Archimede Torretta, Gianluca Rubbini, Alberto Fasiolo,
Pilar Maria Luque-Navarro, Maria Paz Carrasco-Jimenez, Guiomar Pérez-Moreno,
Cristina Bosch-Navarrete, Dolores Gonzalez-Pacanowska, Emilio Parisini and Luisa Carlota Lopez-Cara

207 \ 207 \
Sos \ Sost
kR \ e
| \
04 N 04r \
i } i
03 A\ 03+
02 \\ ozr
01 = 01 L
0 R 0 \f e
2 -1 0 1 2 3 4 2 1 0 2 3 4
[CKEa-22] (M) [CKEa-29] (uM)
1 _7“‘;: —_
0.8 T 08 ;\\
™ ) .
N
08 08
Bo7 z o7 \}\
=
Sos Sosr \\+
ED Fos \
04 04r
@ o *
03 N 03 \?}
02 ~ 02 N
"% ™.
.
0.1 — 0.1 S
[ — s —
-2 1 3 4 3 2 1 3 4 5
[CKFL1] (uM) [CKE£4] (M)
e L S \;‘
— —
0.9 . 09 e
\.\\ ‘i \
08 ;\ 08+
207 \ 207 [y
Sos Zos
=R o E = o
2 N
o 0
i i
03 03
02 \\ 0z
-
01 S 0.4 \\\
o —
o — 0 —
2 4 0 1 2 3 4 3 2 3 4 5

- E 1
[CKF£-7] (uM) [CKFg-11] (uM)



Growth inhibition (%)

Growth inhibition (%)

120

Fractional Activity

=
3

o
B

e
@

o
=

=)
@

o
~

=)

©

0 1
[CKEg-16] (M)

CKF-aM2

o o

= @
yd

7

Fractional Activity
o o
o 3
T

0 L L L

1
[CKFg-18] (nM)

Figure S1. ICso Curves Inhibition of PfCK.
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Figure S2. IC50 Curves.
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Figure S3. Spectra.



